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- Practice Problems and Applications :
Q. m Fcéz:;se“’heﬂlef each Sl{ipe ;{S\ positive or 14. 3’T}}11e graph shows how far Danzel cycled
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FQ R_;_( D | g \1 a) About how far did he travel in 2 h 45 mig
= -—>> 2. State the slope and th%cnC each b) About how long did it take him to cycle
p q
line segment. 15 km? |
s 7 ” % ) What does the slope of this line tell you?:
/bTZ =0 , PO Q ; 15. a) On the same grid, draw a line through
< - 21 - ; A(1, 4) and B(-2, 2) and a line through
=~ — " ' Y N P(-1, -1) and Q(2, 1).
y -4 1210 2 | 416 X b) Calculate the slope of each line in part
) So X , ) Use your answer to part b) to explain why
< Rse Y 7 ; these lines are parallel.
M= ""é-f - ' 16. a) Plot the points P(-4, 2), Q(-1, -2),
uAN 3. State the slope of each line segm_ent. R(4, -2), and S(1, 2). Join PQ, QR, RS and;-__
\_ N ) RN ] b) Draw diagonals PR and QS.
% = 2o ) BN L g ¢) The diagonals PR and QS are
B3 2 < i) T gpl perpendicular to each other. Find the slop
e LN / 4 of each diagonal. How are the slopes relat
o e , D9 e 3 d) Is this relationship true for any pair of -
/V)CD N 7 =0 NERENUERE XK X perpendicular lines?
: 9 \ 17. The lengths of 2 ski slopes are 625 m
2 H =i V3 Z8oax and 760 m. The horizontal distance from
/h 4 o , start of the run to the end of the run for
3 ! C I 1 slopes is 300 m.
' a) What is the height of the higher ski sl
/h (( 2egrmme ftbe slopé of the line passing through tc: the nearest metfe? e
- et pair of points.
0

4. A5, 9), B(7, 8) 5.CG3, 4, D07, 4

m _ _L 6. M(9, 3), N(O, 1) 7. P(0, -5), Q(0, 4
. % 8. K(2, 5), L(0, 8) 9. A(-2, -3), B3, 3) \
State w_betber ?be slope is positive or megative for Fmd the values of x and y that
each pair of points. ; make the following true.
10. C(3, 4), D(=2, -5) 11. P(-1, 3), Q(0, 2) 1"1 =1,x £y

12. M(-6, 0), N(4,5) 13.XG, 5), Y(7, 2)
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